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Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mÙkj nhft;sA izR;sd bdkbZ ls ,d iz'u

djuk  vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

UNIT-I/bdkbZ -I

1. Define Financial planning and write a note on the need

for financial planning. [15]
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foÙkh; fu;kstu dh ifjHkk"kk nhft, vkSj foÙkh; fu;kstu dh

vko';drk ij ,d fVIi.kh fyf[k,A

OR/vFkok

Define Finance function. Discuss its nature and scope.

foÙk dk;Z dk ifjHkk"kk nhft,A bldh izd`fr rFkk {ks= dh O;k[;k

dhft,A

UNIT-II/bdkbZ-II

2. How do you calculate Accounting rate of return? What

are  its limitations?

[15]

vki izR;k; dh ys[kkadu nj dh x.kuk dSls djrs gSa\ bldh

lhek,a D;k gSa\

OR/vFkok

Calculate cash inflow and Pay-back period from the

following particulars :

Cost of Machine  16,00,000

Working life of the Machine 20 years

Salvage Value of the Machine  1,60,000

Annual earning after depreciation and

before tax 5,00,000
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Rate of tax 50%

fuEu fooj.k ls jksdM+ vUrokZg ,oa vn;xh vof/k dh x.kuk

dhft, %

e'khu dh ykxr  16,00,000

e'khu dk dk;Z'khy thou 20 o"kZ

e'khu dk vo'ks"k ewY;  1,60,000

gzkl ds i'pkr~ ,oa dj ls iwoZ okf"kZd vk;  5,00,000

dj dh nj

UNIT-III/bdkbZ-III

3. Define 'Cost of Capital'. How will you determine the cost

of capital from different sources? [15]

^iw¡th dh ykxr* dh ifjHkk"kk nhft,A fofHkUu lzksrksa ls izkIr iw¡th

dh ykxr dk fu/kkZj.k vki fdl izdkj djsaxas\

OR/vFkok

Calculate operating leverage, financial leverage and

combined leverage from the following data :

Sales 1,00,000 units @  2 per unit  2,00,000

Variable costs  0.70 per unit  70,000

Fixed Cost  1,00,000

Interest charge on debt capital  3668
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fuEu leadksa ls ifjpkyu yhojst] foÙkh; yhojst rFkk la;qDr

yhojst dh x.kuk dhft, %

fcØh 1,00,000 bdkbZ;ka @  2 izfr bdkbZ  2,00,000

ifjorZu'khy ykxr  0.70 izfr bdkbZ  70,000

fLFkj ykxr  1,00,000

_.k iw¡th ij C;kt  3668

UNIT-IV/bdkbZ-IV

4. What is meant by dividend and explain the different forms

of dividends. [15]

ykHkka'k ls D;k vk'k; gS\ ykHkka'kks ds fofHkUu izk:iksa dh O;k[;k

dhft,A

OR/vFkok

A company has EBIT  60,000. It has in its capital structure

10% Debentures of 1,50,000. Its current equity

capitalisation rate is 16%. What would be its overall cost

of capital and total value of the company under traditional

approach?

,d dEiuh dk bZ-ch-vkbZ-Vh-  60,000 gSA bldh i¡wth lajpuk

esa  1,50,000 10% ds _.ki= 'kkfey gSaA bldh fo|eku

bfDoVh iw¡thdj.k nj 16% gSA bldh iw¡th dh lEiw.kZ ykxr o

dEiuh dk dqy ewY; ijEijkxr mikxe ds vUrxZr D;k gksxh\
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UNIT-V/bdkbZ-V

5. Write short notes on the following : [15]

fuEu ij laf{kIr fVIif.k;k¡ fyf[k, %

(i) Cash Budget

jksdM+ ctV

(ii) Inventory Management

LdU/k izcU/k

OR/vFkok

From the following information calculate the working

capital requirement :

Budgeted Sales  13,00,000

Percentage of net profit on cost of sales   25%

Average credit allowed to customers 10 weeks

Average credit allowed by suppliers 4 weeks

Average stock (Carrying in terms of sales

requirement) 8 weeks

Add 10% to computed figures for contingencies.

[P.T.O.]



KN-326/1000 (  6  )

fuEu lwpuk ls dk;Z'khy iw¡th dh vko';drk dh x.kuk dhft,%

ctVh; fcØh  13,00,000

fcØh ykxr ij 'kq) ykHk dk izfr'kr 25%

xzkgdksa dks iznÙk vkSlr lk[k 10 lIrkg

vkiwfrZdrkZ }kjk iznÙk vkSlr lk[k 4 lIrkg

vkSlr LVkWd ¼fcØh vko';drkvksa ds lanHkZ esa½ 8 lIrkg

x.kuk dh xbZ jkf'k esa 10% vkdfLedrkvksa ds fy;s tksfM+,A

-----x-----


